
ROUTING 
  

 

 
 

 

      TRUNKING 
    

F1000 F1000 5M PG 

 

 
 

   F3300 F3300 UNISTRUT 5M LENGTH 

    F4000 F4000 UNISTRUT 5M LENGTH 

    O-P801 O-LINE DUAL POWER SKIRTING 

    P1000-UNI P1000 TRUNKING 

    P2000 P2000 TRUNKING 

    P2000H P2000 HANGER 

    P7100 P7100 TRUNKING 

    P8000 P8000 GLAV TRUNKING 

    P801DUALXXXX DUAL POWER SKIRTING 

    P801-PVC P801 DUAL PVC POWER SKIRTING 

    P802-COVER1.5M 1.5M ALUMINUM COVER FOR POWER SKIRTING 

    P802SINGLE SINGLE POWER SKIRTING 

    P803TRIP TRIPLE COMPARMENT POWER SKIRTING 

    P9000XXX P9000 UNISTRUT 3M LENGTH 

    PP35MNA POWER POLE 3.5M COMPLETE 

    PP3MMNA POWER POLE 3M COMPLETE 

    PP45MNA POWER POLE 4.5M COMPLETE 

    PP4MNA POWER POLE 4M COMPLETE 

    SSO4X2D/P 2X4 SSO DEDICATED + COVER FOR POWER SKIR 

    Y4040 SLOTTED TRUNKING 40X40 

    Y40X60 40 X 60 FINGER TRUNKING 

    YCLT/1 50X50 EGA TRUNKING 

    YCLT/4 75x50 EGA TRUNKING 

    YCLT/5 75X75 EGA TRUNKING 

    YCLT/6 100X100 EGA TRUNKING 

    YCLT/6G 100X100 EGA TRUNKING GREY 

    YNBT4 100X40 EGA TRUNKING 

    YNBT4/2 100 X 40 DUAL TRUNKING 

    Y-SL18075 3 COMPARTMENT HALFMOON TRUNKING 

    Y-SL18076 2 COMPARTMENT HALFMOON TRUNKING 

    YT1 16X16 EGA TRUNKING 

    YT1/3M 16X16 EGA TRUNKING 3M 

    YT2 16X25 EGA TRUNKING 

    YT3 40X16 EGA TRUNKING 

    YT4 40X25 EGA TRUNKING 

    YT5 40X40 EGA TRUNKING 

    Y40X25 40 X 25 FINGER TRUNKING 

    Y40X40 40 X 40 FINGER TRUNKING 

     

 
 

     

      

http://www.o-line.co.za/straights1.htm
http://www.o-line.co.za/straights1.htm
http://www.o-line.co.za/straights1.htm
http://www.o-line.co.za/straights1.htm
http://www.o-line.co.za/straights1.htm
http://www.o-line.co.za/straights1.htm
http://www.o-line.co.za/straights1.htm


      

      

      

      

      

      

      

      WIRE BASKET 
    

100MBAS 

 

100MMX75 WIRE MESH BASKET TRAY 
 

    100MBASK 100MMX50 WIRE MESH BASKET TRAY 

    150MBASK 150MMX50 WIRE MESH BASKET TRAY 

    200MBAS 200MMX50MM WIRE MESH BASKET 

    200MBASK 200MM WIRE MESH BASKET (MEDIUM) 

    300MBAS 300MMX50MM WIRE MESH BASKET 

    300MBASK 300MMX75MM WIRE MESH BASKET 

    300MBASK/50 300MM X 50MM WIRE MESH BASKET 

    300MBASK50 300MM X 50MM WIRE MESH CABLE TRAY 

    50MBASK 50MMX50 WIRE BASKET 

    150MCB 150MMX50MM WIRE MESH CABLE TRAY 

    
      CABLE TRAY 

    50MM-CT 50MM LIGHT DUTY CABLE TRAY 

    76MM-CT 76MM MEDIUM DUTY CABLE TRAY 

    114MMCT 114MM CABLE TRAY MEDIUM DUTY 

    

      CABLE TRAY ACCESSORIES 
    

114MMCVR 

 

114MM CABLE TRAY COVER 
 

    AR-JOIN/KIT JOINING KIT 

    COS CLIP ON SUPPORT 

    JOINER JOINER SPLICE SET 

    JOINERK JOINER KIT 

    P8200 P8200 SPLICE 

    

      

      

      

      

      

      

      

      

      

      

      

      



      

      

      

      

      

      

      

      

      

      

      TRUNKING ACCESSORIES 
 

300MHB 300MM HORIZONTAL BEND 

300MHC 300MM HORIZONTAL CORNER 

300MMTPC 300MM T-PIECE FOR CABLE TRAY 

300MTP 300MM T-PIECE 

32MMSAD 32MM BOSAL SADDLE 

M10-FLAT M10 FLAT WASHER 

M10-SAD M10 HOLD DOWN SADDLE 

M10-VENDER M10 VENDER WASHER 

M10DA 10MM DROP IN ANCHOR 

M10HN 10MM HEXNUT 

M10ROD M10 THREADED ROD 

M12-BOLT M12X30MM BOLT 

M12-SPRING M12 SPRING NUT 

M12-WASH M12 FLAT WASHER 

M16-RAW M16 RAWBOLTS 

M6-BOLT M6X30MM BOLT 

M6-DA M6 DROP IN ANCHOR 

M6-JOININGCLAMP M6 JOINING CLAMP 

M6-RAW M6 RAWBOLTS 

M6-SPLICE M6 SPLICE CLAMP SET 
 

M6HDS M6 HOLD DOWN SADDLE 

M8-BODYXX M8 BODY WASHER GAL 

M8-DA M8 DROP IN ANCHOR 

M8-HEXSREW M8X30 HEX SREW 

M8-NUT M8 SPRINGNUTS 

M8-RAWBOLT M8 RAW BOLTS 

M8-SPRING M8 HOLD DOWN SADDLE 

M8-THREADED M8 THREADED BAR 

M8-WASH M8 WASHER FENDER 

M8X30XXX M8 NUT 

MISC-MSPAD MS PLATE WITH 50X50 CUT OUT 

 

MISC-MSPLATE MS PLATE 22X38MM PUNCH 

MISC-MSPLATE(25X50) MS PLATE 25X50MM PUNCH 

MISC-PEDESTAL COTTAGE PEDESTAL DUAL 

O-50X50P O-LINE PLATE WITH 50X50 PUNCH 

O-P801EC O-LINE DUAL END CAP 



O-P801HB O-LINE DUAL HORIZONTAL BEND 

O-P801VE O-LINE VERTICAL ELBOW 

O-P801VT O-LINE VERTICAL T-PIECE 

O-SSOPDED O-LINE SSO DED. + COVER 

    OL-MSCOVER OLINE COVER PLATE WHITE PVC 
 

P-PUNCH PUNCHING OF PLATE 

P2000CV P2000 COVER 

P2000EEB P2000 EXTERNAL ELBOW 

P2000HE P2000 HORIZONTAL ELBOW 

P2000IE P2000 INTERNAL ELBOW 

P2000IS P2000 INTERNAL SPLICE 

P8000CV P8000 COVER 

    P8000ECR P8000 EXTERNAL CORNER 

    P8000ICR P8000 INTERNAL CORNER 

 

P801-BEND 90DEG HORIZONTAL BEND 

P801-EC END CAP 

P801-HINTCNR P801 HORIZONTAL INTERNAL CORNER 

P801-PVCEC P801 PVC END CAP 

P801-PVCHB P801 PVC HORIZONTAL BEND 

P801-PVCHT P801 PVC HORIZONTAL T-PIECE 

P801-PVCVE P801 PVC VERTICAL ELBOW 

P801-PVCVT P801 PVC VERTICAL T-PIECE 

    P801-TJUNCTIONXXXX P801 HORIZONTAL T-JUNCTION 

    P801-VE P801 VERTICAL ELBOW 

    P801-VER/TP P801 VERTICAL T-PIECE 

    P801COVER P801 COVER 

    P802-ENDCAP P802 END CAP 

    P802-VER-T P802 VERTICAL T-PIECE 

    P803-EC P803 END CAP 

    P803COVER P803 COVER 

    P9000COVERXXXX P9000 STEEL COVER 

    P9000EC P9000 END CAP 

    PPBLBOX POWER POLE BLANK BOX - COMPLETE 

    PPBLBOX-OLINE O-LINE POWER POLE BANK BOX - COMPLETE 

    PPBLPLATE POWER POLE BLANK PLATE FOR PP BOX 

    PPBOX50X50 POWER POLE BOX 50X50 COMPLETE 

    PPDEDSSO POWER POLE BOX+SSO+DEDICATED COVER 

    PPMOD POWER POLE SMLS 2MOD PLATE 

    PPSSO16A POWER POLE BOX + 16A SSO + COVER 

    PPSSOB POWER POLE BLUE SOCKET + COVER 

    PSCVR POWER SKIRTING COVER PLATE 

    SSO2X2N SSO NORMAL 

    YAE2 EXTERNAL ANGLE 25/16 

    YAE4 EXTERNAL ANGLE 40X25 

    YAE5 EXTERNAL ANGLE 40X40 

    YAEBT4 EXTERNAL ANGLE 100X40 

    YAF2 FLAT ANGLE 16X25 

    YAF4 FLAT ANGLE 40X25 

    

http://www.o-line.co.za/service_outlets.htm
http://www.o-line.co.za/service_outlets.htm


YAF5 FLAT ANGLE 40X40 

    YAI2 INTERNAL ANGLE 25/16 

    YAI4 INTERNAL ANGLE 40X25 

    YAI5 INTERNAL ANGLE 40X40 

    YAIBT4 INTERNAL ANGLE 100X40 

    YEP2 END CAP 16X25 

    YEP4 END CAP 40X25 

    YEP5 END CAP 40X40 

    YIA 100MMX40MM INTERNAL ANGLE 

    YNEP4 END CAPS 100X40 

    YNEP6 100 X 100 PVC END CAP 

    

      

      

      

      WIRE BASKET ACCESSORIES 
    100MBT-PIECE 100MM WIRE BASKET T-PIECE 

    100MM-WB 100MM WIRE BASKETX50 PITCH 

    100MWEB 100MM EXTERNAL BEND WIRE BASK 

    100MWHB 100MM HORIZONTAL BEND WIRE BASK 

    100MWIB 100MM INTERNAL BEND WIRE BASK 

    150MMCANTILEVER 1500MM CANTILEVER (SUPPORT BRACKET) 

    200MBT-PIECE 200MM WIRE BASKET T-PIECE 

    200MWEB 200MM EXTERNAL BEND WIRE BASK 

    200MWHB 200MM HORIZONTAL BEND WIRE BASK 

    200MWIB 200MM INTERNAL BEND WIRE BASK 

    250MMCANTILEVER 250MM CANTILEVER (SUPPORT BRACKET) 

    300MBD 300MM WIRE MESH EXTERNAL BEND 

    300MTPIECE 300MMX75 T PIECE 

    

       


